Anx B - Work Completion Report

Company			•••	Innordhon mrsc		20 0170	lla ron		7.7.7
Project/site G	GMR		Nature of work	Tiles		Dt. site bills reg	eo.		26/11/2025
	CA		Work done from date		, , , , , , , , , , , , , , , , , , , ,	M-codex bill ID	Ħ.		***************************************
WO no.			Work done to date		,	WO issued?			,
WO date			Contractor bill no.			GST bill required?	iired?		
Sl. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
-	G	SBUA 1360Sft (65%)			884.00 Sft	Sft	TF 185	16	14,144
2		Skirting			244.00 Rft	Rft	TF 186	16	3,904
ω.		200sft oer toilet			400.00 Sft	Sft	TF 180	18	7,200
4		93sft per flat			93.00 Sft	Sft	TF 183	15	1,395
5		,			32.00 Sft	Sft	TF 183	15	480
6									
7									
~									
9			-						
10					, , , , , , , , , , , , , , , , , , ,			Total	27,123
						Total amo	Total amount including taxes for work done	s for work done	27,123
Remarks:	PRROVED BY	BY	Approved by OS team	, in the second	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Approved by	Approved by Director/E&D team	B	
	•		Sign:			Sign:			
Date:	The second second		Date:		,	Date:			

ESTIMATE SHE	EET					-	
Company Name:	MRMLLP			Appro	oved by: AN	IL.M	
Project:	GMR						
Work Description	Flooring tiles and bathroo	om tiles laying					
Contractor Name	Janardhan						
Prepared By:	Anil.M						
Date:	26.11.2025						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	G 606	SBUA 1360 sft (65%)	884.00	Sft	16.0	14,144.00	- i
		Skirting 18%	244.00	Rft	16.0	3,904.00	
1;	Bathrooms	(200sft per toilet)	400.00	Sft	18.0	7,200.00	
i. i.	Utility	93sft per flat	93.00	Sft	15.0	1,395.00	
 	Kitchen	To the second se	32.00	Sft	15.0	480.00	
·						Total amount:	27,123

MEASUREMEN	T SHEET								
Company Name:	MRMLLP				Approved	by: ANIL	.M		
Project:	GMR							,	
Work Description	Flooring tiles and bathroo	om tiles laying							
Contractor Name								1.	
Prepared By:	Anil.M			,					
Date:	26.11.2025				-				
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	Units	Head
1	G 606	SBUA 1360 sft (65%)	884.0	1.0	1.0	1.0	884.00	Sft	
		Skirting 18%	244.0	1.0	1.0	1.0	244.00	Rft	
	Bathrooms	(200sft per toilet)	200.0	1.0	1.0	2.0	400.00	Sft	
-	Utility	93sft per flat	93.0	1.0	1.0	1.0	93.00	Sft	
·	Kitchen		16.0	1.0	1.0	2.0	32.00	Sft	
·									

Bill for Consumable charges

Janardhan, Hyderabad

Date: 26.11.2025.

In favor of:

MRMLLP.

Project / Site:

GMR.

Location:

Mallapur.

Type of Work:

Tiles

Towards:

Allowance for Consumable Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Flooring and bathroom tiles laying done in G-606.	Rs. 5424/-
	Total Amount = 27,123/-	
	Work done from date 23.10.2025 to 30.10.2025	

Amount in words: Five thousand four hundred and twenty four Rupees Only.

Bill for Labour charges

Janardhan, Hyderabad

Date: 26.11.2025.

In favor of:

MRMLLP.

Project / Site:

GMR.

Location:

Mallapur.

Type of Work:

Tiles

Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Flooring and bathroom tiles laying done in G-606.	Rs. 10849/-
	Total Amount = 27,123/-	
	Work done from date 23.10.2025 to 30.10.2025	

Amount in words: Ten thousand eight hundred and fourty nine Rupees Only.

Sign:	

Bill for Equipment charges

Janardhan, Hyderabad

Date: 26.11.2025.

In favor of:

MRMLLP.

Project / Site:

GMR.

Location:

Mallapur.

Type of Work:

Tiles

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Flooring and bathroom tiles laying done in G-606.	Rs. 10849/-
	Total Amount = 27,123/-	
	Work done from date 23.10.2025 to 30.10.2025	

Amount in words: Ten thousand eight hundred and fourty nine Rupees Only.